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1. Answer ONE of the following questions: (50%)

a. The era of AT (artificial intelligence) is coming! It is easy
to see how it can help in translation. So, please deliberate
where it CANNOT contribute anything at all to
translation, or in other words, its limits where translation

1s concerned.

b. It keeps me wondering whether the age of printed stories
1s over now that people “read” great novels through
watching its adaptation on the screen, either big or small
ones. Please discuss about a movie adaptation of any
book you’ve seen. What are the differences between
reading a book and watching its adaptation of a movie?

2. The sentences below may seem the easiest ones there
are; however, they reveal their complexity when one tries
to translate them into our language. Please translate them
into Chinese WITHOUT using the following characters:
= ~ BV ~ /R and any similar abstract words. NO point
will be given to any answer containing those characters.

(50 %)

a. The girl 1s beautiful.

b. The apple 1s sweet.

c. The book 1s interesting.

d. It 1s late now.

f. The lady 1is thirty years old.

g. There is no way out of this.

h. It was rainy; but it is sunny now.
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1. IREVERCAEAL?

2. fHIECEE

3. e — (LR S?

4. ML HA S SBEIFS -

5. REH B Feahi Se g ?

6. BF/MdH— MEEC -

7. i 2R

8. {RA] DMEE (B RFFELHAT -

9. NERE T BRI HM@RKAEEK -

10. 4t AR E— (Rl - B3R AR — (e (EE T -

11T E— T



12 R AAT 8 E -

13 IRHYAR LAY -

14 REEF 2T -

15. F TR EA A EEHE -

S8

1. Potentially, artificial intelligence could result in a less expensive and more responsive
approach to higher education by helping universities to provide better education for students.

2. US and German secretly gathered the encrypted communications of governments for decades
through machines supplied by a Swiss company.

3. Today's tape devices transfer data at speeds as high as 800 megabytes per second, while
mechanical hard drives deliver a write speed of about 120 megabytes per second, and
solid-state drives (SSDs) write data at rates of 550 megabytes per second.

4. Ritchie is best known as the creator of the C programming language, a key developer of the
Unix operating system, and co-author of the book The C Programming Language.



5. The demand for augmented reality and virtual reality engineers rose 1,400% last year over the
year before.

6. His most highly publicized accomplishment was leading the group that developed AlphaGo,
which is an algorithm that beat the world Go champion.

7. Javais an island of Indonesia, bordered by the Indian Ocean on the south.

8. A python is a very large snake that kills the animals it eats by wrapping itself around them.

9. She excels everyone else in sports.

10. The Terminator is an android for its appearance resembling a human.
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— ~ BBO | B R IPRER—EEEE - (60% @ 5—/H 4%)

1. oI R R AL R L2
(A)AI(OH);  (B)AI(OH)  (C)AIOH (D) Al(OH)s (B) ULEE-

2. (LB JETD TR R SR
(A) P IE AR P B N -
(B) 58/ NI [(FT A B EL ) (A AR A0 E Y 2 R =
(©) R/ NAICTH TR AR/ (5] A S E 8 | L (E A S -
(D) A1 FASEE SR N R EY) - B) DLEEE -

3. K ERBEMECRANEHE BRI AT - 25°C 1 ~ FifERAGHY BR 2 200. torr -
IEiEmm P RYRAE A EHEHFLAREVERZE SRR 2.65 1% - ENEFEE 14.01 > FHHER
RANEHEEE
(A) 742 g/mol (B)197 g/mol  (C) 3.99 g/mol (D) 10.6 g/mol (E) LI F¥IE

45 IEFRERET > MIE 2A(g) = 2B(g) + Clg) HYFHHEBK=1.6 x 10* - FEFE
Hesle B EMNER T -

4. RN B BEEEEHRIL R RS
(A) BEEBAIE - B) BECHEII - (O WHEIEMKEE -
(D) fERHEE EAIE - B) M EETF -

5. WIS 2HENENFAECEFENRIERESY T+
(A) ERAWDELT- (B) M CHSELT -  (C) FEREFEMAE -
(D) EEEHNVER LT - (B) ARERCLZERER -

6-8 HURMBL(FEE MAs)E—H "B ik - s EaT
K, pKa
H:As =— H'+HAs™ 79x10° 4.10

HAs = H'+As>™ 16x102 11.79 _

DA EBRR AT AR M 2 ST Z FUEE I A S HY .

ey — . — : Vg_.i o
8 E AR AR Lo "Vl added )
6. £ L EECREA V1/2 BaFEES )Y pH E 2 ?
(A) 4.10 (B) 7.95 (€) 10 (D) 11.79 (E) 12.39
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7. £ M EECREA V1 BEEERS )Y pH (HE ?
(A) 4.10 (B) 7.95 (C) 10 (D) 11.79 (E) 12.39

8. TE IV EECRA Vi+ V2 BARR)AS - ST PO TRAY E T 9
(A) As* (B) HAs™, As™ (C) HAs™ (D) HaAs, HAs™ (E) H2As

9. M D P9& 0.10 M CIEE 0.10 M CrO- « 5B IS 0.10 M SIS RS D -
TIMTH G SRR ? EAISSESREE (LARAT Kap B 9.0 x 1072 BUR 1.6 x 10710 «
(A) TWESR (B) &M5R (©) FfLsR (D) fk B

10. Al RIE 2Al(s) + 3Cla(g) — 2AICI(s), AH = —1390.81 kI BYARRESCH A 2 TERE 2
(A) AR AICL(s)Z I ZAR FE - (B) 3 AICls(s)Z B JE
(C) 4K 1 mol AICI3(s)AY K FEZE—1390.81 kJ -
(D) 73f# 1 mol AICI;(s)HY K EZZE—1390.81 kT -

(B) 2/ ARIME =D AR TR -

e S

1. GERRITEMA G » EAEEBEEANT
MnOs~ + 8H* + 5¢- > Mn** + 4H,0  E° =151V
Cr207 +14H" + 66~ — 2 Cr3* +7TH,0 E° =133V
FEREAEIRAET - IR IERE 2

MnO4~ / Mn?* Cr 0% / Cr*

(A) AEEFCr g s - (B) FiBHIBEFR G -
(©) HOAITEMNSHIEEE BT 2.84V o (D) A5 BHEAF RS -
(B) Z&EFNMn™ gt -

12. E{LEIFIIHE Cr(s) + NOs (ag) — Cr¥*(ag) + NO(o) B A-AFRE M B » S5 | Wit
LR TR » HO()H %85 (T 2
A)1- B)2 - (©)3 - (D)4 - (B)S -

I3. TOMERERT - BARRNE (/LR ICEREK, BEhE )R &E 2

(A | (B) |\ © I : (D) l i (E) A EEFE -

14. NI (B E B FRIE R D A sy 2
(A) mILE (B) s fbsh ©) &R (D) ik (E) &

RIEaRRALERCSE A F2RH3H
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15, "PERCIA T TR 2
(A) ERCTA IR RS R R B AR (YT A -
(B) [ RGPy A R A R B B R _E T T -
(©) MREFHER - BABR ORI IR 7 R JTEFERIELE -

(D) o Rl At T 1 (E) DI s
= - R - (40%)
n [ my My
1. Eﬁﬂ%éﬂ%%%ﬁ: Seta 1 0 0 +1/2
Setb 2 1 2 ~1/2
1) BREbRARTEERIAHS 2 (5%
(1) 7 i ijﬁ e . Sete 4 3 =3 —1/2
(2) HﬁﬂEHL E. ;FT H@Jﬁ@ o (6%)) Set d D) 9 0 12
Sete 3 2 =1 -1/2
A A :
2. REWN ICls 4 SO; —_ : 1 o e

(1) SAIRIBRERIES FHIRS B L4k ks

TIAARCGEEEERE) - (4%)
() FEHEDTZ LR T (AR L SIPRREHE - (4%)
() WMEDFEEBIEST 2 BHE?  (5%)

3. {EEKJE 2H02 — 2H,0 + O, BT EMREL T
H>07 + I — H,0 + 10
H,O +10" -5 H;0 + 0+ I-
(1) FROECHEEER > AERHEHEER - (5%)
(2) FRHTHEDIMEER - WRHEHEER - (%)

4. REROR R R B MK Y B B R R B T KA G o 1
(1) EFIRGEETERE?  (3%)
) B FRERVREE - 55 HEES B0t - (3%)
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